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MATH 2030 — Combinatorics 1
Quiz 3

Answer all questions and show all your work. (Total Marks: 20)
You have 20 minutes to complete the quiz.

1. (10 points)

(a) Four couples are seated at a panel table (all in a row). How many ways can

they be seated so that no couple sits together?

(b) Four couples are seated at a panel table. How many ways can they be seated

so that exactly one couple sits together?
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2. (10 points)

How many permutations of 12345678 have exactly two of the following as
(consecutive) subsequences?
12,23,34,56,78.
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